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402 2IHGE01M 4,900 0 4,900
01 QUAR=2EX 4,900 0 4,900
o BATHHOIL RARON AIAE Al
3,500,000 * 294 * 70/100 4,900
N=EEaHel s 30,000 0 30,000
= 15,000
i 15,000
402 QIZEXE0|M 30,000 0 30,000
= 15,000
2 15,000
01 Q==X 30,000 0 30,000
o NERLHE MM
30,000,000 * 1702 30,000
2 15,000
2 15,000
ANEHAAss K& 50,000 0 50,000
= 25,000
= 25,000
405 TarFE S 50,000 0 50,000
= 25,000
2 25,000
01 NAXESEFH=UI 50,000 0 50,000
o NAUDES FHI(HYI S)7Y
50,000,000 = 14l 50,000
= 25,000
= 25,000
oS HHMA D= AlE 200,000 0 200,000
= 100,000
= 100,000
402 PIZHRIZO0IH 200,000 0 200,000
= 100,000
2 100,000
01 QX=X 200,000 0 200,000
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A sII=4H
M sYIl=He

el SAM2D289 HEA B4 Rk
SN S(B) - NRAY - B2 O] &k o8 e =2
o ZN2 MMM B
200,000,000 * 1JH=2~ 200,000
= 100,000
i 100,000
== MII=E3 135,812 221,320 285,508
= 44,906
i 90,906
ESOIE MADII=AY 89,812 77,070 12,742
= 44,906
i 44,906
206 THZ=Hl 29,812 0 29,812
= 14,906
= 14,906
01 MZ bl 29,812 0 29,812
o RUHIR, BT, H22EY S
1,490,600 * 108 » 2042 29,812
= 14,906
i 14,906
402 BIZ2HX =0l 60,000 44,000 16,000
= 30,000
= 30,000
01 QX=X 60,000 44,000 16,000
o GE2E MMNLI |4
30,000,000 * 22~ 60,000
= 30,000
i 30,000
b~ SHESWHZEEH 6,000 5,750 250
307 212+0] 6,000 5,750 250
02 SltHAEx 6,000 5,750 250
o t==oH S0l Iy
0,000 * 1,20008 * 50/100 6,000
ZZ& Attas 2 AlY 10,000 0 10,000
206 THZHl 10,000 0 10,000
01 MZHl 10,000 0 10,000
o NEH ANETE 2
625,000 * 16ha 10,000
4 U=+ E4 =XA B2Y 30,000 0 30,000
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A sII=4H
M sYIl=He

ol D MIISEZ (6191 &2
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
207 Il 30,000 0 30,000
NEEEEET 30,000 0 30,000
o FHEIS SHIHE 98 S=IA BY
b 30,000,000 * 14! 30,000
WA NIIEED 282,026 361,500 AT79,474
= 10,000
= 40,013
2 232,013
HAHOL SHRADY Al 30,000 30,000 0
402 QIR+ OIF 30,000 30,000 0
01 AN=LZE 30,000 30,000 0
o TAHNEY 512A D HLAH
60,000,000 * 1744 * 50/100 30,000
DE MU FA A 51,000 12,500 38,500
201 Ygreg| 1,000 0 1,000
01 A=zt 1,000 0 1,000
< ypragll > 0

200,000 * 5742 1,000
207 SO 5,000 0 5,000
03 AlIE& 2| 5,000 0 5,000
o DEZHELM NS W2
1,000,000 * 542 5,000
307 21201 45,000 12,500 32,500
02 QtFAE X 45,000 12,500 32,500
o oY Ngs NFF=2Q 23
300 * 300,000 * 50/100 45,000
DT HUTEZ e UIHH Al 8,000 8,000 0
= 4,000
i 4,000
402 QIEXE01 M 8,000 8,000 0
& 4,000
i 4,000
01 Q==X 8,000 8,000 0

S UK EZ 2 2HHITHE Al
10,000,000 * 1JH2 * 80/100 8,000

g0

- 5831 -




A sII=4H
M sYIl=He

ol A MIIsE= (SR :H&)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
== 4,000
i 4,000
L2EGRA HUXEZE HDU AlY 101,000 0 101,000
301 Lptsaazg 1,000 0 1,000
10 HAAHIEAS 1,000 0 1,000
o AN BIIs| HMTA
1,000,000 * 13l 1,000
402 SIZ2HA =0l 100,000 0 100,000
01 QIZIXI=22 X 100,000 0 100,000
o AFHORA NUKNZEZE HIY AEY
10,000,000 * 20914 * 50/100 100,000
DIIZ2LE HE KBS SHR MAAIEY 20,000 0 20,000
= 10,000
= 10,000
402 QI2FX =0 20,000 0 20,000
= 10,000
i 10,000
01 BIZEXI=22 X 20,000 0 20,000
o WIRYE (IS SUBE 22 M
Al 20,000,000 * 17424 20,000
= 10,000
= 10,000
Fed ML) HES MAIBEH AIE(XSEES 72,026 0 72,026
3t)
= 36,013
i 36,013
402 SIZ2HX =0l 72,026 0 72,026
= 36,013
= 36,013
01 BIZEXI=22 X 72,026 0 72,026
o FEE FHD)| EFS Mg H
A" 90,032,000 * 1I9HA = 80/100 72,026
= 36,013
i 36,013
SHE MOIsE3 32,164 29,639 2,525
Ordstis &8s & 52 =4 12,250 9,500 2,750
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FAH =

™ ZRH: =
(=T IO

@2 3t

l=dH
iz
g MII=Es

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
201 Ysr2gy) 2,750 2,000 750
01 At el 2,750 2,000 750
< Ysragyl > 0
o 840 HE Y 4+83 7Y
200,000 * 531 1,000
o WIHHIE 500,000 * 23] 1,000
<2YLY > 0
o ALY 50,000 * 53l 750
206 &Yl 9,500 7,500 2,000
01 Wzl 9,500 7,500 2,000
o o7 ABTHE 100,000 * 55 * 53l 2,500
o SSEN ZATE 100,000 * 505 5,000
o ™I ®MAE WE 100,000 * 105 * 23l 2,000
SUNES BUR RFNAG AlY 19,914 15, 139 4,775
101 oIty 1,314 2,539 A1,225
10 JAHNZENSES 1,314 2,539 A1,225
o BB Z AT 218
32,850 * 4% * 102 1,314
207 AT Y| 18,600 2,600 6,000
CIEEET] 18,600 12,600 6,000
o #YB 3 600 * 30,0007 18,000
o BB HATHE 10,000 * 60% 600
ey SRS 84 36,500 26,800 9,700
= 9,000
2 27,500
FTA IS SM ASHE AY 21,000 21,000 0
= 9,000
2 2,000
402 PIZEXHEOIH 21,000 21,000 0
= 9,000
2 12,000
EFEEEES 21,000 21,000 0
o FTAUIS SM ASHEZ AY
30,000,000 * 1744 * 70/100 21,000
= 9,000
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A sII=4H
M sYIl=He

o9 AEY SMES S4 k)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
= 12,000
MAGDGZ2 ESYH A S AE 1,500 0 1,500
206 2| 1,500 0 1,500
01 THEHI 1,500 0 1,500
o MHEZE ZSZE MUAS M=
300,000 * 5& 1,500
== 0|88 AS&F Y 14,000 0 14,000
402 QI2EX 20| 14,000 0 14,000
01 QIZtX=2ExR 14,000 0 14,000
o =2 0|88 ASHS N
10,000,000 * 29HA = 70/100 14,000
HERAAH (sEII=4H) 250,198 200,268 49,930
lHARIAH| (s I=HH) 54,213 42,631 11,582
2AOAB (sSEII=HE) 11,700 11,400 300
203 HRF=EY| 11,700 11,400 300
01 JI22g9YRF=&| 3,300 3,000 300
o sI|=HEHAE 275,000 = 12& 3,300
04 ENSIYERF=EH 8,400 8,400 0
o 309! 0I5H(SEX2 D) 350,000 * 128 4,200
o 300 olat(DIsE321) 350,000 = 12& 4,200
MNEOIAHH| (s II=HH) 42,513 31,231 11,282
101 214 d| 42,513 31,231 11,282
02 =% 42,513 31,231 11,282
o AZ2IIZ22+E
8,258 * 33Y * 13AI2F = 128 42,513
Jl2Zdl(sgll=4H) 195,985 157,637 38,348
Jl2dH|(sYI)|IsdyH =28) 178,205 157,637 20,568
201 ey 132,925 113,175 19,750
01 AtR22id] 52,255 36,955 15,300
< et ZH| > 0
o TgE E 2¢ 150,000 * 11CH * 23 3,300
o SAJ| EE WEt 300,000 * 2CH 600
o SAH| EYH 70,000 * 2CH » 6&E 840
o SAEX 17,500 » 15=2+A * 102 2,625
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SN
X XH .
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chel:

CEE (S - MRAY - HAS

22
J2

=1
R
121

02

RSN B 72

5,000 * 305 » 123
350,000 * 22l
100,000 * 22

10,000 » 175 » 128

15,000 » 1822 » 123

100,000 * 20CH

sgel s f @A EE2E M

5,000 = 2008

50,000 * 20&
sJ|l=4dEH SHOIX |Xl2eldl
100,000 * 12&
AIIotE 3| 250,000 = 12&
AR A 2013 H| 250,000 = 12&
294 >
=R 50,000 * 1 = 475
< Ol=dl >
SIAH =2led JHls ¥ oHXNG
200,000 * 24
)2 I=H|(adt=)
300,000 * 49H
AISAIEE 22|HP=2 80,000 = 3Y¥
=2 29 dEass
50,000 * 49
=S| >
sgllsdy g2
7,000 * 1798 » 20
S=29h|
SSSLHA >
22X L I9sEEX ¢€s 2
250 = 50000 ~ 12&
HYNMS ME M= 210,000 = 12&
rSE=Ix=d 400,000 * 12&

1,800
700
200

2,040

180

2,000
600

600
1,000

1,000

1,200
3,000

3,000

23,750

400

1,200
240

200

2,380
80,670

1,500
2,520

4,800

76,220

4,450
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SN SIS HE
HE: BH2AAY (SIS HE)
et D=2 (SIS HE) CELRE
5 o SIEN
SA-BH.C(BH) - HRAY - B 0ff &+ o4 il i~ o Hnz2
o M+EE 600 * 300m * 1A * 122 2,160
o BANS L3 100,000 * 23| 200
o HEE HAY 100,000 * 27 A 200
o B4 23 300 + 300m * 1A + 122 1,080
o ROIYHHI 2EHE 10,000,000 * 1CH 10,000
o ®IR2 20,857
asig J|=g 6,130 * 34 * 122 221
usts AIBR
107.83 * 12,600k 122 16,304
=AE AMBER
36.10 * 5,000 * 204 A * 122 4,332
o I HIIAMN 242 450,000 * 18l 450
<ozl > 0
o sIlEHH 920 * BAIZH * 952 * 8L} 5,504
< NEEHIST > 0
o PUHE |XB W2
100,000 * 122 1,200
o FAI| KRR 20,000 * 3CH * 122 720
o HA R 2,000 * 2,589 5,178
o o) sxz 10,000,000 * 1CH 10,000
< Tl > 0
o B s 3,860,000 * 1CH * 80/100 3,088
o A8 S 4,640,000 * 2CH * 70/100 6,496
o 32 =8 3,250,000 * 1CH * 70/100 2,275
o 32 43 3,360,000 * 1CH * 70/100 2,352
202 Ofl 40,280 38,740 1,540
01 =LHoit] 11,480 38,740 A27,260
o YN YSHIE 50,000 * 2% * 12% 1,200
o T . BYC A& U NOIL
35,000 * 10 21 7,350
o NEA H23 24
29,300 * 10 * 102 2,930
02 201t 28,800 0 28,800
o S8 e =X
150,000 * 16% * 122 28,800
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SN S SHE
Mo MESAAY| (SUIISHE)

el J|2ddl(sgIIsHH) (Stel-&3)
- _ _ poE N
2N -3 - c2(3H) - NEME - HES Ol & @ﬁOH Hns
405 KHaHE SHI 5,000 0 5,000
01 XL =EEFSHI 5,000 0 5,000
o MX=AD| 5,000,000 * 1CH 5,000
Jleddl(Oleda+ey) 2,640 0 2,640
202  OfH| 2,640 0 2,640
01 =2LHoHI 2,640 0 2,640
o sENMRoE 4 1%
50,000 » 2% * 12& 1,200
o SENMROY B4 HEEG FA
30,000 * 4% * 12 1,440
ll2dbl(sE=Nagy) 1,680 0 1,680
202 OiHl 1,680 0 1,680
01 =2LHoHI 1,680 0 1,680
o SENIAYR HEEXE
50,000 » 1H * 12& 600
o sENAYR FEE Y HIXI0H
30,000 * 3¥ * 12 1,080
J2dH(ZSEIsXded) 2,740 0 2,740
202 OiHl 2,740 0 2,740
01 2LHNHI 2,740 0 2,740
o BEJI=8d XA 50,000 1 * 12& 600
o I dUAIY =&
30,000 * 3¥ * 12 1,080
o SJH =32l us
5,000 * 2% * 1063 1,060
Jl2dul(MNeEXEYY) 4,720 0 4,720
201 B9 1,120 0 1,120
01 AtR2t2lbl 1,120 0 1,120
< SEHl > 0
o AMEAZ Iz 7,000 » 169 * 10 1,120
202 0dd| 3,600 0 3,600
01 =2LHNHI 3,600 0 3,600
o &P sk 50,000 » 3% * 12& 1,800

30,000 * 5& * 12 1,800
J23HI(A==2eY) 2,640 0 2,640
202 Oddl 2,640 0 2,640
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A sII=4H

M HH2IAH (sIIs4H)

el JI2ZH(sglI2sdH) (el =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
01 =LAl 2,640 0 2,640
o &= 8N 50,000 » 2& * 12E8 1,200
o EiA=E Vsl e+l
30,000 » 48 » 12 1,440
Jl2Zdl(Saa=gY) 1,680 0 1,680
202 Oddl 1,680 0 1,680
01 =LAl 1,680 0 1,680
o S3tsd FF JI=XE
50,000 = 1&€ = 128 600
o SMAEA= d&8sIH #X 0
30,000 * 3H = 12 1,080
Jl2ddl(d8sgd) 1,680 0 1,680
202 Oddl 1,680 0 1,680
01 =LHAYI 1,680 0 1,680
o MIsAY SEIE
50,000 » 1& * 1228 600
o WAz AEIE =T
30,000 * 3H » 12 1,080
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